
Math 2568, euiz #3, Fall  2013

Instructions: Show all  work, Use exact answers

1,, Determine if  the system below has onlv t
to f ind the solution i f  i t  is non-tr ivial.  Shc

3. Determine irthe transrormation r ([ i;])
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2 . Determine i f  the fol lowing sets of vectors

do no t  need to  use  your  ca lcu la to r  on  m

defini t ion of a l inelar t ransformation. (Ve
contradict ion i f  i t  is not.)
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re  l inear ly  inde t  o r  l inear ly  dependent .
of them. Just i fy ur  answer  (b r ie f l y ) ,
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e tr iv ial  solut ion or
enough work to
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non-tr iv ial  one, you do not have
t i fy your answer.

= Q

You

a

a l l th ree  pro

is  l inear  o r  non l inear  us ing  the

i f  i t  is l inear,  or f ind a

T C


